Planetary Reducers

SERVOBOX® Series

1&
13
£
b
R
1
High Accuracy & Efficiency Profit
']
e —
*& SHEF EESE— 15058
IM LIMING No. 150, Sec. 1, Tan Fu Rd.,
Tan Tzu Dist., Taichung City 42753, Taiwan.
*ugﬁmﬂgﬁﬁ FRAT Tel: 886-4-25314888 Fax: 886-4-25338982
LI MING MACHINERY CO., LTD. Http: //www.li-ming.com E-mail:info@li-ming.com [ 15’ EIJ % =0 ﬁe’;’: 5% Tj_ $ / /JE!Z E % By 5B g 5 Hﬂ ]

@®H0029-LM201208



/

| MING MACHINLRY “ "
|

Quality First & Customer's Satisfaction

REFIT

SERVOBOXZR IS T
5‘*’ SB3#7

“_i SBL#R%YI
: SERFI
£ |

_’ SELZR%I
4

@ SDRIIEEIT
g SD# 3
a- SDLRFI

HRETSEER



EENREVFERISE / BOREHITEES G
] B & E (r— ] :ﬁ =
00 55 > E = =

MEEMIRD BRATEXREE SRR SEIRR 5 E R IRIe e B E & - 18
1RIBERIBE - ITENBOEEAVELET - S8 - &£ & - AT RERZESFMHE
o B EREERIER - TENMERSBRENSITE - BRMARNEXILAIE
HEZWRMNERFSEBEZ RS -

RBET [BESF— BERE) R [F) - 8 8) iEEER - TENRMNESR
AT EEATERET —HEERFSERINHRHRAT - ATLIEEFHER
ER - (BESESCENEIERE - TEERENRRSE » BEUEREBERNL - &
BRI D - TEREELIEEE) - RZHNDK - BEIMES > BiRELEEE
FBES  MEEZEAREIR - & - ERFEHNRFEP - TRERBELY
IR - EEWAREEER - IBXHENFEESERNESIEELL - B
 BERRIEE LR ELIMINGEIRIE = KEXEHFRE - LIMINGRIRIE—B BT
IZoREMNT -

Quality First &
Customer's Satisfaction

Li Ming Machinery Co., Ltd. is specialist in design, R&D and
manufacturing of a wide range of high-tech gear motor and
helical gear reducers, worm gear reducers, planetary gear
reducers. In recent years, to meet customers' requirements
of quality and price, we have been dedicated to constantly
upgrade the performance of gear reducer, maximize efficiency,
and provide the most comprehensive technical supports. Under
the company's policy of [Quality First; Customer Satisfaction and
Intelligence; Sincerity; Honesty], we have invited many highly
experienced talents.

At Li Ming, we have a team with outstanding background in
high-tech field. Li Ming's outstanding enterprise culture results
from its practicality, constantly learning the advanced
management system and a commitment to excellence.

High Accuracy & Efficiency Profit
Among the wide range of speed reducers, the planetary gear
reducer features compact construction, high-torque resistance,
high transmission efficiency, wide range of speed reduction and
high accuracy.

The planetary gear reducers are widely applied in servo,
stepping and DC transmission system. With its outstanding
feature of high precision transmission, the planetary gear
reducer is excellent for reducing speed, increasing torque and
reducing torsional inertia ratio. High torque, low backlash and
low noise are three key features of Li Ming's gear reducers,
and these are the reasons why Li Ming gear reducers are in the
leading position on the market.

SERVOBOX Planetary Reducers ¥5%35/T 255iE#H |




Integration / Automation
Machining Equipment

Based on our acknowledgement of the unique
processing characteristics of speed reducers on all
parts, we have developed and designed a series of
high-efficiency automatic machining equipment, to
work with high-performance processing machines.

Our well-experienced technicians take good control
of precision in our parts, and strict quality control to
ensure the best precision and performance of all
parts and components. A series of automatic
processing equipment provides the most solid
foundation for the consistency of precision in the

machining of parts and components.

B &11b N0 T 5% fis

RIFHRRES DO SHBE I TIFERERA - HFIBITHEREST—RIISMEEENL
HYDD LB & - ABCS RSB MEREND THEM -

AATFKEREENZME - EESHINTHTRERES - REmEEHIERAEEEGE
BB ERIEEE - —RIIBEMLII TR BER/EHININTHREREEREZRIEENELR -

Manufacturing with
Full Range of

Automatic Equipment

SERVOBOX Planetary Reducers ¥5%351T 25i##H |



—8{EE8I0 LT

MERMAIRITERINRR - RERERE
R FTCNCERSNI THEMER 1R - LASEEHIIT
- IEEBFIREAER - BASHGEE > BRiE

EHGEE -

Automatic Processing
Equipment

To enhance technical improvement, Li Ming
Machinery Co.,Ltd. has placed a huge
investment in the purchase of a whole set of the
latest generation of Computer
Numberically-Controlled (CNC) machines and
equipments, in combination with distinguished
engineering personnel, to upgrade the precision

of parts and ensure stable quality.

High Precision Planetary Reducer

SERVOBOX Planetary Reducers ¥5%35/T 255iEH |



Comprehensive Quality Control
Is not a Mere Slogan

[Comprehensive Quality Control] is never a mere slogan
of LIMING. We adhere to our quality policy. To each
quality requirement, we have to set up rigorous quality
standards for prompt and accurate quality control every
single partis subject to comprehensive inspection and
tests, frominitialreceiptof material to assembly of
finished products and regular operation, to completely
satisfy your requirement. Our quality control department
has the most advanced inspection equipment conducting
precision measurement. A good tool is the master of all

good works, our precision inspection equipments are the

best assurance of our reliable quality.

ZEHmE] AFfREOFE

EEGEE] ANSATRAER—OOR - RAIHEEBERINE - #
B EREEREMEIEHRBNRERES - EMEENREET - =
—BEEHERIEERRIE - KESTHRmEVES FERAIE - EHEESE
 BRETEENERRFNENEEIRE - @ENPIFTEIERERE
ERREBHER - TTHREHES » LWEFHESE) - BfIREBEERES
- EmEEEIRE -

SERVOBOX Planetary Reducers ¥5%35/T 255i%#H |



SD SERIES &%

g% = Quiet operation

TR EREIRIEE TR MERE -

Helical gears contribute to reduce vibration and noise.

=F5E High precision

BRRIEH3IM D » ENIEIE -

Backlash =3 arc-min reaches precision alignment.

=l ~ S*E High rigidity & torque

EAEEEEIUMETRETER » XIS 3 MINEFIHRAE -

High rigidity & high torque are achived by integrant needle roller bearings.

BEEERAVIERILERET Modular Design of Motor Connection Plate

IBRIVERILER ST - BRI O AREE NI ERGEE -

The distinctive modular design of motor connection plate is suitable for any flange mounting servomotors.
#HEBAERIR - #E€/5{E No grease leakage & Maintenance-free

@Fﬁa*‘n‘f‘; REDEEHVEIBAE - BIFEBEER - TERSMEINERESIREEE - LREFEHE -

Perfect solution using high viscosity anti-separation grease. No need to replace the grease during product life.

Convenient installation is the advantage.

Indication of Model Numbers
HIERISE T

SDy ool 10 | JRR PO Juoror

mmm | | mEs | |®EE Ratio | HDSSIRGERIE ERSR =sERige
Type Model | |esgy 1.stage | : Output Bearing Backlash Class Motor Type
D 47 5 7 10 | Cimes . RmepR | | SR 1-Stage
> : Ps = 15l%3(arcmin)
SDL 64 ey 2-Stage | Standard (Ball Bearing) PO = 3¥043(arcmin)
T ET P1 = 59053 (arcmin)
90 25,35, 50,70, T TSR P2 = 734 (arcmin)
110 100 : Taper Bearing E_-EEQ 2—Stage
140 i Ps = 3353 (arcmin)
E PO = 53[43(arcmin)
200 ! P1 = 7343 (arcmin)
255 E P2 = 93143 (arcmin)

—REIVITEBERRERENS
1T R — A REBERET - UERIZEIRIS
PERABTER - WEA—RINTSR - SHNEEEAZCA -

Integrated Planetary Arm Bracket

The planetary arm bracket and the output shaft are
one-piece constructed to increase torsional rigidity
and accuracy. The entire structure is one-time
machined for controlling accuracy in the specified
tolerance.

mETEY R ETERRES S
TEESRNEHNEFEAFSRISEoRIR M - 12
IEBEELUES SR R ER S -

Full Needle Roller Bearings Design

The planetary gear transmission employs full needle
roller bearings without retainer to increase the contact
surface, which greatly upgrades structural rigidity and
service life.

BIRIEIS TS
WA RIS ENEGIR AR MBS - BEHTE
A - DERESEASE TRSTENRLERTEE
- REBERIOVEIIGE -

Collet Locking Mechanism

The input-end and the motor are coupled through a
collet locking mechanism.It has passed dynamical
balance analysis to assure concentricity and balance
on the connection and no backlash for power
transmission while running at high speed.

—RETVIR IR N EsEmTE

EImAEFI NIRRT — R AVERET - AR IR A RIS
WiRE - ERESRA—RESHN_EUL - B350
TR RS  SEHIETER R -

One-piece Helical Gear Box

The gear box and internal ring gear are one-piece
constructed, the speed reduction mechanism employs
helical gears, which provides two times meshing rate
of teeth when compared with regular spur gears. In
addition, it also features extremely smooth running,
low noise, high torque and low backlash.




SD S E RVO BOX Planetary Reducers

MODEL : SD

EBEEY 1-Stage
&L RATIO : 5.7.10

- B9
_ B2 _ BT
1-A10 HT B4 B5
B8 deep (R (A
I B
i
i
o & . :
s ¥ 2 =1 " ]
Q| Q g | Ep—
!
._-'.~»} : 1 . !
o | ] 11 = - -
A9 | \ B3 \
B6 deep | | '
unit:mm e .
Model RS B pEdng 47 110 | 140 | 200 | 255
N 47 64 90 110 140 200 255 Model No. Unit Ratio
Al 67 79 109 135 168 233 280 5 20 50 155 333 618 1189 2010
A2 83.4 8-4.5 8-5.5 8-5.5 12-6.6 12-9.0 16-13.5 e L N 2 — = — T — T 1
A3 7 28 40 o 80 100 100 189 Rated Output Torque 16 43 136 294 549 1059 1779
A4 h7 a7 64 90 110 140 200 255 _ 10
A5 6 6.5 8.5, 23 10, 20 10 11.5 12.5 Eaikiﬁ_u:jjjjﬁﬁ Max. Output Torque Nm 5~10 31%25%@@&7]%5 3 Times of Rated Output Torque
A6 H7 12 20 31.5 40 50 80 100 XEEH ABESR Rated Input Speed rpm 5~10 3,000 3,000 3,000 3,000 3,000 3,000 2,000
A7 72 86 118 146 179 248 300 A AESE Max. Input Speed rpm 5~10 6,000 6,000 6,000 6,000 5,000 4,000 3,000
A8 20 31.5 50 63 80 125 140 HP& Backlash Ps arcmin 5~10 - - =1 =1 =1 = =1
A9 4-M3 x P0.5 7-M5 x P0.8 7-M6 xP1.0 | 11-M6xP1.0 | 11-M8xP1.25 | 11-M10xP1.5 | 12-M16 x P2.0 Z12 Backlash PO aremin E_10 =3 <3 <3 <3 <3 <3 <3
A10 H7 3 5 6 6 : 10 12 Z=[& Backlash P1 arcmin  5-10 <=5 =5 =5 =5 =5 <=5 =5
B1 h7 59 70 98 125 156 212 255 - :
B2 19.5 19.5 30 29 38 50 66 P Backlash P2 arcmin 5~10 =7 =7 =7 =7 =7 =7 =7
B4 3 a 6 6 6 8 12 — :
B5 5 6 10 10 15 15 20 BETHIM7) Max. Axial Force N 5~10 340 590 1,970 2,970 4,690 6,700 8,800
86 s o = = = B B JRERERF Ball Bearing
B7 a4 5 7 8 10 12 16 jﬁ‘ﬁ?ﬁmfﬂlﬂ Max. Axial Force N 5-10 _ _ 2670 4260 6240 8100 10,610
B8 a4 6 6 7 7 10 10 E BN Taper Bearing
B9 73 84.5 133+~147.5 153 +~163 186.5 250.5 263 . ” e 510 20,000(@%%@@5}%@2% 10,000hrs)
c1 46.60-63 | 70-75-90 | 20 MO 115" 415,145 165 | 145165200 | 200215265 | 200265 + 300 service Life 20,000(Continuous operation life 10,000hrs)
Q2 M3-M4 M5 | M4>M5-~M6 | M5 M6-M8 | M6M8~M10 |M8~M10~M12 | M10 M12 M16| M12 M16 % 5~10 =97%
c3 8911 1419 19+22+24 242832 28.32+35 |38.42-48.55 424855 {BFEE Operating Temperature °c 5~10 25°C ~ +95°C
c 205 > 473 6777 845 1143 1135 5~10 SERUEBEAS Synthetic Gear Grease
@ 5 | 3044050 506070 | 70~80-95-110| 95-110~130 | 110~130~180 | 1143180230 | 114.3 230 250 B5SEZ4F Protection Class 5~10 IP65
ce6 M3 x PO.5 M5 x PO.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5 2245 75[8 Mounting Position 5~10 EEE Any
c7 46+ 55 647080 924110130 | 122130150 | 146150190 | 182200250 | 222250 265 EE(E Noise Lovel dB 5-10 <55 =58 =60 =63 =65 =67 =70
cs 1/8"PT 1/8"PT 1/8"PT 1/4"PT 1/4"PT 3/8"PT 3/8"PT —— .
c9 5874 80.90-105 | 116140165 | 138+165+190 | 170190 +245 | 230250300 | 254 300 340 B8 Weight £3% Kg 5~10 0.7 1.4 4.2 7.4




SD

S E RVO BOX Planetary Reducers

MODEL : SD

#EEZ 2-Stage
¥REEL RATIO : 25.35.50.70.100

B9
B2 _ ,.B7
1-0A10 HT B4 y . .—-BS --C4 -
B8 deep - ._A5
i T T 8
. it
S g o S - I
S 1
\ C8
' . s T
PCD Al B3 TS (1] R
| "o Model No. U Ratio 47 110 140 200 255
nit:mm
unit 25 200 50 155 333 618 1189 2010
47 64 90 110 140 200 255 ———— 35 19 47 142 309 573 1108 1870
67 79 109 135 168 233 280 SRR Nm 50 20 50 155 333 618 1189 2010
8-3.4 8-4.5 8-5.5 8-5.5 12-6.8 12-9.0 16-13.5 Rated Output Torque 70 19 47 142 309 573 1108 1870
A3 h7 28 40 63 80 100 160 180 100 16 43 136 294 549 1059 1779
A4 h7 47 64 90 110 140 200 255 AL /JFE Max. Output Torque Nm 25~100 3fSEZEFEHILE/IFE 3 Times of Rated Output Torque
22 152 250 3165 9'4(2)3 105;020 ;g 11105 TETHE ABSE Rated Input Speed rpom  25~100 3,000 3,000 3,000 3,000 3,000 3,000 2,000
H7 .
=] < E: P
A7 72 86 118 146 179 248 300 Eﬂfiﬁumvai Max. Input Speed 'Pm  25-100 6,000 6,000 6000 6000 5000 4,000 3,000
A8 20 315 50 63 80 125 140 %ﬂ[‘ﬁ Backlash Ps arcmin 25~100 - - — §3 §3 §3 §3
A9 4-M3 x P0.5 7-M5 x P0.8 7-M6 x P1.0 11-M6 x P1.0 | 11-M8 xP1.25 | 11-M10xP1.5 | 12-M16 x P2.0 P& Backlash PO arcmin 25~100 =5 =5 =5 =5 =5 =5 =5
A10 H7 3 5 6 6 8 10 12 & Backlash P1 arcmin @ 25~100 =7 =7 =7 =7 =7 =7 =7
B1 h7 59 70 98 125 156 212 255 #5F& Backlash P2 arcmin - 25~100 =9 =9 =9 =9 =9 =9 =9
B2 19.5 19.5 30 29 38 50 66 -
B3 5 7 12 12 12 16 20 HHEEM|IE Torsional Rigidit Nm/arcmin  25~100 6 14 30 8 155 450 1126
3 4 6 6 6 8 oes -
B4 12 SaTEIE7] Max. Axial Force N 25-100 340 590 1,970 2,970 4,690 6,700 8,800
B5 > 6 10 10 15 15 20 RIKEHEC Ball Bearing
B6 6.5 10 12 12 16 22 30.5 — :
87 4 5 7 8 10 12 18 BEFRIRT) Max. Axial Force N 25-100 - - 2,670 4,260 6,240 8,100 10,610
B8 4 6 6 7 7 10 = RSN Taper Bearing
B9 99 109 144.5 189+203,5 | 224.5-2345 290.5 349 EEES service Lif hr 55100 20,000(E1&:EEE=012 10,000hrs)
R R R =07 Service Life = i ion li
c1 46 - 60 - 63 4660 - 63 70-75-90 |0 1‘135 115~ | 415.145.165 | 145165215 | 200~ 215 - 265 i 20,000(Continuous operation life 10,000hrs)
ey ) — > 949
2 M3 M4 M5 | M3 M4 M5 | M4 M5 M6 | M5 M6-M8 | M6 M8 M10 | M8 M10~M12 MI10~MI12+M16 S Efficienc O/° 25=100 . 4% ;
c3 8911 8-9-11 1419 19+22-24 242832 283235 38424855 {FFRE Operating Temperature C 25~100 -25C ~ +90°C
c4 30.5 32 33.5 59 73.5 6777 84.5 114.5 & Lubrication 25~100 S ERGEEHAAE Synthetic Gear Grease
C5Hs | 304050 30.40-50 | 50-60-70 | ‘080595 | 95.110.130 | 110130180 | 114.3+180~230 B5EZ4R Protection Class 25~100 IP65
c6 M3 x P0.5 M3 x P0.5 M5 x P1.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 Z24£75[E Mounting Position 25100 FESE Any
c7 4655 4655 64-70-80 | 92-110-130 | 122130150 | 146150190 | 182~ 200 » 250 = _ N - _ - - - - -
c8 1/8"PT 1/8"PT 1/8"PT 1/8"PT 1/4"PT 1/47PT 3/8"PT RSB Noise Level dB 25~100 =56 =58 =60 =63 =65 =67 =70
c9 5874 5874 80.90-105 | 116140165 | 138~165~190 | 170 ~ 190 ~ 245 | 230 + 250 * 300 EE Weight £3% Kg 25~100 1 1.9 4.8




SD S E RVO BOX Planetary Reducers

MODEL : SDL

EEEY 1-Stage
SELE RATIO : 5.7.10.14.20

Cc3 Cc8

W

B3 B2 BT 4
- M I o
PPy NG
o
[ o
= =l = o b =
- B9
B6 deep \ " B10 - . %E*% $ﬁ—i ﬁtt’
' : unit:mm Model No. Unit Ratio 47 110 140 200 255
Mode
Code &7 A 90 L e Ao D3 5 20 50 155 333 618 1189 2010
Al 67 79 109 135 168 233 280 e 7 19 47 142 309 573 1108 1870
A2 8-3.4 8-4.5 8-5.5 8-5.5 12-6.6 12-9.0 16-13.5 SRERHIHAE Nm 10 20 50 136 294 549 1059 1779
e 2 - " s o o . Rated Output Torque 14 19 47 142 309 573 1108 1870
" 20 16 43 136 294 549 1059 1779
= : o iy vin = o b N SEEEHIHIE 3 Times of
T 5 o e e 0 0 0 H‘?@TH:ITJ%E Max. Output Torque m 5~20 3{EXETEH 3 Times of Rated Output Torque

X o
A7 72 36 118 146 179 248 300 ZEE@HAESR Rated Input Speed rpm 5~20 3,000 3,000 3,000 3,000 3,000 3,000 2,000
A8 20 31.5 50 63 80 125 140 BRABRIAEE Max. Input Speed rpm 5~20 6,000 6,000 6,000 6,000 5,000 4,000 3,000

A9 4-M3 x PO.5 7-M5 x P0O.8 7-M6 x P1.0 11-M6 x P1.0 11-M8 x P1.25 11-M10xP1.5 | 12-M16 x P2.0 P& Backlash Ps arcmin 5~20 =2 =2 =2 =2 =2

A0 H? 3 > 6 2 & Lo 12 #5F& Backlash PO arcmin 5~20 =4 =4 =4 =4 =4 =4 =4

B1 h7 59 70 98 125 156 212 255 =12 Backlash P1 arcmin T =c B = < < <

B2 19.5 19.5 30 29 38 50 66 — : - -

B3 5 7 12 12 12 16 20 5= Backlash P2 arcmin 5~-20 =8 =8 =38 =8 =<3 =8 <3

B4 3 4 6 6 6 2 12 HHEERIE Torsional Rigidity Nm/arcmin  5~20 6 14 30 86 155 450 1126

BS 5 6 10 10 15 15 20 o )

B6 6.5 10 12 12 16 22 32 BEFAIE7) Max. Axial Force N 5~20 340 590 1,970 2,970 4,690 6,700 8,800
JRYRERF Ball Bearing

B7 a 5 7 8 10 12 16 — '

o ¢ e e ! / 10 10 EETHE) Max. Axial Force N 5-20 _ 2,670 4260 6240 8,100 10,610

B9 82.5 105.5 163.6 203 227.5 313 3325 IRH#EEHS Taper Bearing

- 1o 125 _— e it 363 52800 — " 20,000(EHEESFH2 10,000hrs)

C1 46+ 60 ~ 63 707590 |90~110~115+145| 115+145+165 | 145+165 200 | 200215265 | 200 * 265 * 300 {EAZE0T Service Life r 5~20 20,000(Continuous operation life 10,000hrs)

c2 M3 M4-M5 | M4 -M5-M6 | M5-M6-M8 | M6 M8 ~M10 | M8 ~M10~M12 | M10-M12-M16 | M12+M16 g £256 -

c3 8911 14~19 1912224 242832 283235 | 38.42-48-55| 42-48-55 “\;ﬁ'c'ency . - S

ca 27 335 53+67.5 67 ~77 85 132 132 {EMIRE Operating Temperature C 5~20 ‘ -25°C ~ +95°C

C5 H8 3040 50 50.60-70 |70+80-95-110] 95-110~130 | 110~130~180 | 114.3 180230 | 220 » 250 ~ 265 B8 Lubrication 5~20 LEREEHES Synthetic Gear Grease

C c6 M3 x P0.5 M5 x 0.8 M6 x 1.0 M8 x 1.25 M10 x 1.5 M10x 1.5 M10x 1.5 BHEEZEHR Protection Class 5~20 IP65
c7 4655 647080 92+110+130 | 122+130-150 | 146150190 | 182200250 | 222 » 250 * 265 2% 758 Mounting Position 5~20 F=758 Any

c8 1/8"PT 1/8"PT 1/8"PT 1/4"PT 1/4"PT 3/8"PT 3/8"PT == i
/ / / / /! / / BB Noise Level dB 520 <63 =65 =68 =70 =72
(@] 61 77 115.3+129.8 141 ~ 151 174 235 235

= - o
c10 83 108 160.3-174.8 201~ 211 245 325 345 B8 Weight £3% Kg 5~20

IA

74

lIA
Q




SD

S E RVO BOX Planetary Reducers

MODEL : SDL

#EEZ 2-Stage
JREE RATIO :

1-BA10 H7 o
B8 deep ) | |
I
zi:ziL.
NEERNE Q
S
BGAc?eep jl |I| PC@DAZM B3 !
Model
Code 47 64 90
A1l 67 79 109
A2 8-3.4 8-4.5 8-5.5
A3 h7 28 40 63
A4 n7 47 64 90
A5 6 6.5 8.5, 23
A6 H7 12 20 31.5
A7 72 86 118
A8 20 31.5 50
A9 4-M3 x PO.5 7-M5 x P0O.8 7-M6 x P1.0
A10 H7 3 5 6
B1 H7 59 70 98
B2 19.5 19.5 30
B3 5 7 12
B4 3 4 6
B5 5 6 10
B6 6.5 10 12
B7 4 5 7
B8 4 6 6
B9 108.5 118.5 151
B10 128 138 181
c1 46 ~60 63 46 ~ 6063 70~75-~90
c2 M3 -M4-~M5 | M3~M4 M5 | M4~ M5 ~ M6
c3 8,9, 11 8+-9+11 14~19
ca 27 27 33.5+40.5
C5 H8 304050 30+40-50 506070
C6 M3 x P0.5 M3 x 0.5 M5 x 0.8
c7 46 55 46 ~ 55 647080
c8 1/8"PT 1/8"PT 1/8"PT
9 61 61 77
Cc10 90.5 96 123.5+133

25.35.50.70.100.140.200

B7
B5

B9

Cc10

B10

110

135
8-5.5
80
110
10, 20
40
146
63
11-M6 x P1.0
6
125
29
12
6
10
12
8
7
210.6
239.6

90~ 110~115~145
M5 ~ M6 ~ M8 ~ M10

19~22+24
53+67.5

70-~80~95+110

M6 x 1.0
92+110+130
1/8"PT
115.3+129.8
177.8+192.3

140

168
12-6.6
100
140
10
50
179
80
11-M8 x P1.25
8

156
38
12
6
15
16
10
7
254.5
292.5
115+145+165
M6 ~ M8 ~ M10
24~28-~32
67 ~77
95-110+130
M8 x 1.25
122~130+150
1/4"PT
141~ 151
219229

200

233
12-9.0
160
200
12.5
80
248
125
11-M10 x P1.5
10

212
50
16
8
15
22
12
10
306.5
356.5
145+~ 165~ 200
M8 ~M10 ~ M12
32+-35-38
85
110+~130+180
M10 x 1.5
146 ~ 150 ~ 190
3/8"PT
174
280

unit:mm
255

280
16-13.5
180
255
12.5
100
300
140
12-M16 x P2.0
12
255
66
20
12
20
32
16
10
379.1
4451
200+~215+265

M10 ~M12 ~M16

38424855
117

114.3 180230

M10 x 1.5
182 +~200 -~ 250
3/8"PT
235
362.5

RS
Model No.

REE LR
Rated Output Torque

R AHILE/I%E Max. Output Torque
ZETEH AESR Rated Input Speed
BRAEAEZER Max. Input Speed
758 Backlash Ps

#5P& Backlash PO

#5F& Backlash P1

5P Backlash P2

HEERIE Torsional Rigidit
BEFEIE /] Max.Axial Force
JRERERE Ball Bearing

BEFENE/) Max. Axial Force
BB Taper Bearing

{EEFHZEdHn Service Life
MK Efficienc

{FHRE Operating Temperature
BB Lubrication

= Ay

BHEEZHR Protection Class
ZZ28E73[@ Mounting Position
[2Z{E Noise Level

EE Weight =3%

Bl

Unit

Nm

rpm
arcmin
arcmin
arcmin

arcmin

Nm/arcmin

N

hr

%

dB
Kg

Ratio
25 20 50

35
50

70
100
140
200

25~200
25~200
25~200
25~200
25~200
25~200
25~200

25~200

25~200

25~200

25~200

25~200
25~200
25~200
25~200
25~200

25~200
25~200

110

155 333 618 1189 2010
19 47 142 309 573 1108 1870
20 50 155 333 618 1189 2010
19 47 142 309 573 1108 1870
16 43 136 294 549 1059 1779
19 47 142 309 573 1108 1870
16 43 136 294 549 1059 1779

3fEEEEHILE/IE 3 Times of Rated Output Torque

3,000 3,000 3,000 3,000 3,000 3,000 2,000
6,000 6,000 6,000 6,000 6,000 4,000 3,000
= = - =4 =4 =4 =4
=7 =7 =7 =7 =7 =7 =7
=9 =9 =9 =9 =9 =9 =9
=12 =12 =12 =12 =12 =12 =12

14 30 86 155 450 1126
340 590 1,970 2,970 4,690 6,700 8,800
- - 2,670 4,260 6,240 8,100 10,610

20,000(GE{&E:E#EF=G549 10,000hrs)
20,000(Continuous operation life 10,000hrs)

=92%
-25°C ~ +90°C
SEREEHAE Synthetic Gear Grease
IP65
E=73E Any
56 =58 =60 =63 =65 =67 =70

I




Satisfactionfi®

SD H/ERERYFE

SD Output Frame Dimension

A1 H7
A A2

SD47

12
20
28
47
67
M3 x 0.5P
3
3.4

1xB8 ht

SD64/90

A5

SD140/200

30°

SD64

20
31.5
40
64
79
M5 x 0.8P
5
4.5

1xB8 h7

SD90

31.5
50
63
90

109
M6 x 1P

5.5

1xB8 ht

SD110

SD255

SD110

40
63
80
110
135
M6 x 1P

5.5

24

1xB8 h7

SD140

50
80
100
140
168
M8 x 1.25P
8
6.6

1xB8 h7

SD200

80
80
160
200
233
M10 x 1.5P
10
9

unit:mm

SD255

100
140
180
255
280
M16 x 2P
12
13.5

SERVOBOX FHiEEHSER
SERVOBOX Series Reference Selection Table Of Motor

B5E% SB, SE, SD, 1-Stage %£E% SB-A, SE-A, 2-Stage

BUSR
Model

# DA ERISESRSE > ERRHDER IEEEELIBE) BIKE

The table is for reference. The selected model shall be based on rated output torque.




29
Quality ~ergﬁt & Customer's Satisfactionf®

Bushing EiIE

IA

2B

g

OB

N

HERERFTER GRS EE L -
TRIULBWER TEEEAME » 7£EF/F
{E PRV S S R RYA B COEIEXE -

6.35 (]

10

11

12

12.7

14

16

19

22

24

25

25.4

28

32

35

38

42

Collet Screw & Set Collar Torque Table
BRIFHSERIRIBAETR

SHIRIBHIRAS IEHBE SR IR HHEERIRNE SERIAE %
m Spec. of Collet Screw | Screw Grade | Tighten Torque(Nm) | Clench Torque(Nm) Key
44 47

M3*P 0.5 12.9 2.2 58
62 M4*P 0.7 12.9 4.83 102
64 64 M5*P 0.8 12.9 10 164
90 90 M6*P 1.0 12.9 16.3 233
120 110 M8*P 1.25 12.9 41 423
142 140 M10*P 1.5 12.9 678
180 200 M10*P 1.5 12.9 678 [ J
220 255 M10*P 1.5 12.9 678 ([
x FRIEREEEERIAEE » JEERFTE -
It will cause slip when motor torque exceeds clench torque. 238 242 48 55

10x8 12x8 14x9 16x 10

FEEEIC PEE A
Motor Shaft Collet Screw

WE
Bushing

BEIR
Set Collar

i
Input Shaft




L
Qualrty Ruét & Customer's Satisfactionf®

Applications
R FE R &R {51

Planetary Gearbox and Motor Mounting Instructions
TERRE S L I5R

O R EVEREHE Linear Action

@ RIKIFARESH) @ EEHIFEED @ R/ IRE/RE

Ball Screw Rack Roller / Belt

® T ®timl® ® Rt
Robot Printing Machine Conveyor

® IT{Fe
Working Table

@ CNCI
CNC Spindle

® SEIEs

R HE R RERIR IS B B IETE - WSS EEE » 35 LAT - 554G it

BERELNMRY - FEHME - 555

WiAG B S EIRINEZ P © Fay=is - FENTIZLA -
Confirm the motor and gearbox size . Remove the motor key if the diameter Check motor shaft size and insert

Clean up the mounting surface. of motor shaft is under % 35.

bushing into input bore if necessary.

EVHEESE > BR7EIRFISERIRER  SEEEERNABRE -
FAB8 o WiASIRHHRESEESLAL -

Remove the plug on the adapter plate.
Rotate the set collar till the bolt is line up.

Put the motor into the gearbox vertically.

KB EREDIRFH EN TR -

Tighten the mounting bolt in 1~4 order
with torque wrench.

1. FBIUNSEIHERSIE - A EiHEERE I
BEIR -
To be sure to tighten motor first and
then to tighten the set collar on motor
shaft.

2. BIRTERIRREE - LHLHE ~ 7
AOJEA(E -
Please assembly in order according
to above steps, especially for step 6

and step 7.
FERABENRFFERIRIFHIEE - ZE[OIZE0E -
Tighten the set collar bolt with torque Tighten back the screw plug.

wrench.




A BARE R E M 2R D1 E an
LIMING REDUCERS

FERITERERE Planetary Reducer

=)
LP
e SB e SBL

£

eSD ® SDEEES

f‘*’;

e PB o PB-ASSEY e PBL

]
3

o SDLEF%

' 4

o PBL-A%ES

oFB

VB o R R A
Small Gear Reducer
(0.1kw~2.2kw)

B PRER S & IR R RE
Low Backlash Worm Reducer
(100w~1.5kw)

B b BY R SRR
Shaft-mount worm reducer
(0.1kw~0.75kw)

RELERERAE TR

GearBox Reducer(55kw~110kw)

) AR
TR TR T BRI 08 B Rl A Compact Gear Motor B - BY g R R R A
Reducer for Elevator machine Flange Mounted Worm Reducer (6w~120w) Shaft-Mount Reducer

g <

SR R

Worm reducer(100w~55kw)

8 SR R SR
Gear-Worm Reducer
(0.4kw~7.5kw)

BT IR IRGE

Helical Gear Reducer(2.2kw~30kw)

AR R

Gear Reducer(0.1kw~75kw)

IRE TR
B2 Aluminum Alloy Worm Reducer LEIDE
Screw jack (40w~1.5kw) Bevel gear reducer




%,

Q'ua'lity Eirst & Customer's Satisfactionf®

I J % 4-QF
AR ] N
Servomotor -
[ oot ).
D
H
C
A ] Cc D) E F H |
1TE BRI ET IS RR
S
TR EY BUSR SEEE HEH S BEEFR FSERISR
Type Model Ratio Output Shaft Backlash Class Motor Type
Keyway
HI=C=FIk General Notices:

o & 2SR /D
& BRLEENE D SE OISR
o FERTREHES N

& Type, model and horsepower
¢ Speed ratio or R.P.M. of output shaft

& Method of connection and loading

* HERRZENEHZE ¢ Quantity and applied mechanism
o ANBRFATIEE @ Input connection method and input speed
* SERMMBERIERARSEHRY # Motor band & Model no or frame & motor shaft dimension.
UNSIE=L FtE8A
Company Name Contact Person
bl
Address
E5FE BE EFE5E
Tel Fax E-Mail
{5t
Notes

- 2012F9RAR -

- HREGHE » MMEBSEEHIRI GRS > 57675 -

- EHRRENRIFFITEHBBEIMEIEAR - EIRIZEEREEMREER » /5% -

- EmSNRIMENS » JHEARTER » NMEEHATUIOEXOEEE -

- AEFIREFREIKTE - BRAMERS » RISMAEHSE - BIE]EHFHEEFASETHESSR

- September, 2012

- We ask for your understanding if due to product improvements and the product in this catalogue have

not yet been updated.

- We also ask for your understanding if due to printing limitations the objects and colors in this catalogue

do not match the actual products exactly.

- The products in this catalogue have been registered with the patents office.

- The reprinting of this publication in any from or the imitation of any of the products described within is

expressly forbidden without the express permisson of the LI MING MACHINERY CO., LTD.




